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Sub T ¥EHAANZETT()

Dim x As Variant

Dim a As Integer, b As Integer

Dim ¢, m, n As Integer

With Selection.Interior

x=Selection.Value

*1

A| B C D E F G H I ]
U2 [R5 dieie sk | domibe | sea s | msste | xims| ok | b0t
2 1 | &= 50000 | 15000 | 60.00 | 200000 [ 50000 | 10.00 |100.00| 3 120.00
30 2 [&=| 29550 | 15000 | 60.00 | 1000.00 [ 20000 | 10.00 | 80.00 | 163550
41 3 |#=| 28840 | 15000 | 60.00 | 1000.00 [ 20000 | 10.00 | 10.00 | 169840
50 4 | Zw| 27460 | 30000 [ 000 | 100000 [ 20000 | 10.00 |150.00| 1634.60
6 5 [AZ|100000] 15000 [ 60.00 | 200000 [ 100.00 | 10.00 |100.00| 3219.50
7 6 |#5| 196400 | 15000 | 000 | 150000 [ 100.00 | 10.00 | 15.00 | 3709.00
8 7 | &% 800.00 | 20000 [ 60.00 | 150000 [ 100.00 | 20.00 | 20.00 | 2660.00
9 & | Z#| 90000 | 15000 | 60.00 | 150000 | 100.00 | 20.00 | 30.00 | 2700.00
0] 9 | F#H| 60000 | 150.00 | 60.00 | 150000 | 10000 | 2000 | 5000 | 2380.00
1] 10 | £33 [ 1000.00 | 150.00 | 60.00 | 200000 | 56400 | 2000 | 10.00 | 3784.00

Sheet1 /<Sheet2 /< Sheet3 /

*2

A| B C D E F G | H| 1 ]
Vs ] & |k sk | somie | sene | wak | 35| wi | zhes
20 1| A= | 50000 | 15000 | 60.00 | 2000.00 | 500.00 | 10.00 | 100.00{ 3 120.00
3 2 | &= | 29550 | 15000 | 60.00 | 1000.00 | 20000 |10.00| 80.00 | 163550
41 3 | 3= | 28840 | 15000 | 60.00 | 1000.00 | 200.00 | 10.00 | 10.00 | 169840
505 | &m
61 6 | #~ | 196400 | 15000 | 000 | 1500.00 | 100.00 | 10.00 | 15.00 | 3709.00
70 8 | E# | 90000 | 15000 | 60.00 | 1500.00 | 100.00 |20.00 | 30.00 | 2700.00
81 10 | ##
9 | 11 |#TREE] 800.00 | 15000 | 000 | 2000.00 | 1520.00 | 20.00 |400.00| 4090.00
10] 12 [=tF#| 50000 | 15000 [ 60.00 | 2000.00 | 1500.00|20.00 |300.00| 3930.00

Sheet1 /<Sheet2 /< Sheet3 /
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y=Worksheets(2).Range ( “a2:j2000” ) .Value
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z=Selection.Cells. Row—1
m=UBound(x,1)
n=UBound(x,2)
Fora=1 To m
For b=1 To UBound(y, 1)
If x(a,1)=y(b,1) Then
If x(a,2)=y(b,2) Then
c=atz
E- %N TSRS
With ActiveSheet.Cells(c,1).Interior
Cells(c,3)=y(b,3)
Cells(c,4)=y(b,4)
Cells(c,5)=y(b,5)
Cells(c,6)=y(b,6)
Cells(c,7)=y(b,7)
Cells(c,8)=y(b,8)
Cells(c, 9)=y(b,9)
Cells(c, 10)=y(b,10)
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End With
End If
End If
Next b
Next a
End With
MsgBox (“S8/8isf7”)
End Sub
= RO
e R SE EsEA Bisfr i, KOOl 7T LS
TR Y TS AEOE 2 TR0 B A A, B
AR S o N2 3R AT T AT AR 1, 2 51 Tk 44
S AT IR, 2T LA U A SC UL TR G i vz 7%
AT TR KA PR AR iz R A AR B3 T, B4t
S G 8 B2 RT DA T 8] BT, BVAT S5
it X YIRE .
FESE
John WalkenbachZ ./ & i ¥ X EXCEL2007 % & VBA
AR E S LT F K HRAL, 2009

2011.4%4-93-



